Y
a(d d) (cm)

H
o
iN
H
S
L

o0 a ) (cm)

10—2 .

1025

:III IIII!III:IIII: Irlll: 10—3

Ratio
w
IIIIlIIII_

L1

Nl
&
N

P

n
2

P

= H +-4-

FAFL LU I B ==
2L,
il

o
o] =
T T
» L
ST
T
0 g
&
" N
'y
T
g
A
3]
- “\.
K
3
A
I
JE
NI
T
5
L )
1
n
il
Y
P
S &
3 *

1 2 3
-TesT_1000evT :
REFit-test_1000evt mline)
itREFit-test 1000evt
ESTCKFE T00Oevt

EST 1000evt

i

........................................................................

o) <
o o
— ~
~ ~
= o
S o
~—
o ©
N’
o] 10—1
] 1 I 1 1 I 11 1 1 1 111 I 111 1 11 1 1 ] 1 1 1 1 I 11 1 1 11 111
g o 14-: 11 mw Py
)] T B r f <+
SR RS S € e i T 4+
= 1T T x I+ 4 :
: +- 1.2F+-F-+H Fab-pegkob-ct--t-
+ T £ “EH: 4 T e E S
-f---pit- -1- - + . :
: H: 1 ] T EIE
T X 1l iR s i 3 171
i A B . 4 He | el e 5 b ¥
i H O 8_: : a3 : : i

0 1 3 3 2 -1 0 1 2 3
TP & (PCA to beamline) TP & (PCA to beamline)



	Contents
	Page 1


